
Equivalent Ratio 
 

1. Write two equivalent ratios. 
 
A.  B.  C.  
 
 

D.  E.  E. 
  
   

2. Which ratio is greater? 

A.  
8
7
 and  

48
42

  

B. 
3
7
 and  

15
35

 

C. 
5
7
 and  

6
5
 

D. 
7

12
 and  

12
5

 

E. 
11
6

 and  
2
7
 

3. Which ratio is greater? 

A.  
11
8

 =  
h

32
    h = ____________ 

B. 
32
s

 =  
8
5
  s = ____________ 

C. 
10
11

 =  
70
r

  r = ____________ 

D. 
c

49
 = 

10
7

     c =____________ 

E. 
2
5
 =  

4
r
                  r = ___________ 
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5   

5   
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7   
11   
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5   

5   
8   

7   
8   




